Client Details: Mr Supriyo Chatterjee Site Address:

Suqasa unique,Elaichi more,Narendrapore same

Kolkata

Quotation no:PI/SB/R/125/17-18 Project no:Ax-ScKn-11032018P74

Project type:Standard(medium range) AGOID Registration Details:

(Service Tax Registration no).:

Date: 11.03.2018 (GST Registration no):

Quotation Summary					
Sl. No.	Particulars	Amount(Rs)			
1.	Master Bedroom	201890			
2.	Bedroom 2	195880			
3.	Living, Dinning & Kitchen	343400			
4.	Common areas	266000			
	Total Payable Amount(Rs. Ten lakh seven thousand one hundred and seventy only)	1007170			

Note:

- 1. This is an approximate quotation, amount may varied as per actual Design/working drawing/execution work.
- 2.Extra charges will be applicable for extra work.
- 3.Payment condition:-50% advance along with the approval/work order 25% with 50% progress of job,25% After 90% completion of job and rest after hand over
- 4. The total time period for completion of job is 2 months

For AGOID	Client Signature(Final approval)
(Mohsin Ali (Director)	

Sl.No.	Items	Unit	QTY	Rate	Amount
l.	CARPENTARY(Master Bedroom)				
1.	Double bed:-providing &fitting fixing of hydraulic wooden bed by wooden/ply structure with laminate/polish finish .8mm inner1mm outer side including all hardware materials with headboard decorative king size	No.		NR	NR
2.	overhead cabinet:-Providing&fixing loft structure by 19mm plywith laminate /polish finish inner .8mm & outer 1mm with all hardware fixture materials complete	Sqft	24	1265	30360
3.	4 door wardrobe:-providing&fitting,fixing wooden wardrobe by plywood/wooden structure with laminate/polish/paint finish .8mm inner&1mm outer laminate with all hardware fixture complete	sqft	56	1295	72520
4.	bed side unit:- supply/providing&installation of side unit by plywood/wooden structure with laminate/polish/paint finish .8mm inner&1mm outer laminate with all hardware fixture comp.	Nos.	1	5000	5000
5.	Dressing unit:-supply/providing&installation of dressing unit by ply laminate finish polish etc with all hardware fixtures complete	No.	1	5500	5500
6.	Tall wooden unit & overhead cabinet:-Providing&fixing loft structure by 19mm plywith laminate /polish finish inner .8mm & outer 1mm with all hardware fixture materials complete	Sqft	44	1265	55660
7.	Providing & Installation of aluminium sliding channel with 6mm glass and other accessories complete medium premium range	sqft	90 365 32850		32850
		Total amount		201890	
II.	CARPENTARY(bedroom 2)				
1.	Double bed:-providing&fitting,fixing of hydraulic wooden bed by wooden/ply structure with laminate/polish finish .8mm inner 1mm outer side including all hardware materials Queen size headboard decorative	No.	1	55000	55000
2.	overhead cabinet:-Providing&fixing loft structureby 19mm ply with laminate /polish finish inner .8mm & outer 1mm with all hardware fixture materials complete	Sqft	24	1265	30360
3.	4 door wardrobe:-providing&fitting,fixing wooden wardrobe cum dressing unit by plywood/wooden structure with laminate/polish/paint finish.8mm inner&1mm outer laminate with all hardware fixture complete	Sqft	56	1295	72520
4.	Study unit :-supply/providing and installation of tv unit as per design by ply and .8mm inner&1mm outer laminate finish/polish with required hardware and accessories complete	No.	1	27500	27500
5.	bed side unit:- suply/providing&installation of side unit by plywood/wooden structure with laminate/polish/paint finish .8mm inner&1mm outer laminate with all hardware fixture complete	Nos.	1	5000	5000
6.	Dressing unit:-supply/providing&installation of dressing unit by ply laminate finish polish etc with all hardware fixtures complete	No.	1	5500	5500
		Total am			1

Sl.No.	Items	Unit	QTY	Rate	Amount
III.	LIVING&DINNING AREA & kitchen				
1.	Centre table:-providing and installation of centre table by ply with	No.	1	10000	10000
	laminate/polish and other accessories complete				
2.	shoe rack:-providing&installation of wooden shoe rack with ply	No.	1	8500	8500
	laminate finish and all hardware materials complete				
3.	TV Unit&multipurpose:-supply/providing and installation of tv unit as	No.	1	34000	36500
	desn. by ply and .8mm inner&1mm outer laminate finish/polish with				
	required hardware and accessories complete with multipurpose unit				
	cum invertor, battery keeper				
4.	Dinning table:-providing 6 seater dinning table with 4 no. chairs	set	1	LS	42000
5.	crockery unit/multipurpose unit near entrance: providing with	Sqft	42	1265	53130
	installation by ply and laminate finish with glass & lighting complete				
6.	Providing & Installation of decorative partition cum divider with			l.s	15000
	paneling and mdf fitting,fixing				
VI.	Kitchen&sanitary				
1.	Low ht cabinet:-providing &fixing base cabinet under existing counter	Sqft	34	1295	44030
	slab made up green marine ply finish with .8mm inner&1mm outerwith				
	all hardware materials				
2.	Over head cabinet:-providing&fitting,fixing overhead cabinet with	Sqft	36	1265	45540
	chimney pipe by green/merino ply with laminate inner.8mm and outer				
	1mm finish with hardware materials complete				
3	Service /takeover counter table opposite side of oven area kitchen table			l.s	15000
4.	Accessories materials:-				
a.	ss utensil basket	No.	1	2500	2500
b.	ss cutlery basket	No.	2	2250	4500
c.	ss cup&saucer	No.	1	2500	2500
d.	ssb pullout	No.	1	2000	2000
e.	ss cylinder trolley	No.	1	1200	1200
f.	ss bin holder	No.	1	1000	1000
5.	Providing & Installation of granite including wastage	sqft	40	375	15000
6.	Providing 7 Installation of sink,tap and plumbing concealed piping			l.s	20000
	sanitary works				
7.	Providing & Installation of kutchina or Faber make chimney medium	set	1	25000	25000
	range auto all cleaner with 6" dia piping etc. complete				
			Total an	nount	343400

Sl.No.	Items	Unit	QTY	Rate	Amount
VII.	Common works				
2.	False-ceiling:-providing & installation of false ceiling by gypsum/pop as per design with channel alu. With other accessories complete	Sqft	900	95	85500
3.	Electricals:-providing&installation of electrical wiring in conceal system with modular crabtree/roma &wiring by finolex/havell wire with fittings -light for falseceiling,wardrobe	sqft		l.s	65000
4.	Decoration of entrance area with high decorative wooden mdf box complete with wooden decorative & design panelling			l.s	15000
5.	Wall papering or texture as per client choice	Sqft	100	100	10000
6.	Painting works:-thoroughly painting the wall&ceiling with 2 coat primer 2-3coat paint premium emulsion /enamel as need asain/berger/dulux touchup putty surfacing Roller finish complete	Sqft	2250	20	45000
7.	Common & all bathroom:-providing&installation of ,towel rod,ss ring soap disc,mirror with small cabinet and cubical partition and all other accessories complete	No.	2	16500	33000
9.	pooja room display cum mandir unit:providing &installation of mandir cum display by by wooden structure&ply with laminate finish/polish and all hardware complete hanging wall mounted unit			l.s	12500
		Total amount		266000	

MATERIALS DETAILS

SL.NO.	Material	company	size	
1.	PLY	Globe,Sumi Gold	25mm,19mm,12mm,6mm	
2.	Laminates inner	Deeptouch/Dhoom	8'-0"x4'-0"(.8mm)	
3.	Laminates outer	Greenlam century		
4.	Colour :-Premium emulsion/plastic or royale	Asain/ici dulux/berger	20 ltrs,10ltrs,4ltrs,1ltrs	
5.	Primer :Oil based/water	Berger/asain/ici dulux	20 ltrs,10ltrs,4ltrs,1ltrs	
6.	Wall putty	Birla/JK/Asain	20 kg,40kg, bags	
7.	Electrical wires	Havells/Finolex/polycab	90 mtrs,180 mtrs	
8.	Light fittings	Diamond/equivalent	Nos,pcs	
9.	Switch&sockets	Roma/crabtree	Nos,pcs	
10.	fans	Havells/Crompton greaves	pcs	
11.	Hardware	Hitech/Ebro/equivalent	Pcs,set	
12.	Basket	BTL/Equivalent(10 yrs guarantee)	Nos.	
13.	False ceiling	Indian gypsum/gyproc/pop	12mm	
14.	Sanitary items	Essco,Hindustan,parryware medium range	Set,pcs	
15	pipes	Supreme/equivalent		